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Section 6.1:
2. Answers

a. Test Statistic, 
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. This is a right-tailed test, so the P-value is 
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b. 21%.
4. Answers

c. Test Statistic, 
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. This is a right-tailed test, so the P-value is 
[image: image4.wmf](

)

PZ..

³=

23600091

.

d. 0.91%.

6. Answers

a. Test Statistic, 
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. This is a two-tailed test, so the P-value is 
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b. 0.2984 is not a particularly small probability. Therefore, it seems plausible that the mean is at 15 m.
Section 6.2:
2. Answers.
a. True, we may conclude that H0 is false beyond a reasonable doubt.
b. False, there is simply not enough evidence to reject H0.
c. True, we may conclude that there is sufficient evidence to accept that H1 is true beyond a reasonable doubt. 
d. False, there is simply not enough evidence to accept H1.
4. v. Both the null and alternative hypotheses are plausible.

8. 
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.  If we wish to establish (prove beyond a reasonable doubt) the workplace is safe, we must choose the hypothesis that the workplace is safe to be the alternative hypothesis, i.e., 
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14. i) The P-value is greater than 0.05 because 1.4 is contained within the 95% confidence interval (1.2, 2.0) and so would not be rejected at the 5% level of significance.
16. iii) 0.01 < P-value < 0.05 because 4 is within the 99% confidence interval (3.91, 6.49), but outside the 95% confidence interval (4.22, 6.18)
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